x=1 y=-2
L oxy =2




2. a b7Y AL W, (a+20)(3+4i) +5(1-bi) = 02 HESH=a, b2

@1 @ 2 3)3 @ 4 ®5

(a+ 2i)(3 + 4i) 4+ 5(1 — bi) = 0| A
(3a—3) + (4da—5b+6)i =0

a, b7t AFo|Br BE457L e 22 279 96te] 3a-3 =
0, 4a—5b+6=0

La=1,b=2

webA a + b = 3 o]t




2457k A2 2L 2790 Ssto]




b 5(1-2%) _5(1-2%) _, .
1+2i (1+2)(1-2) 5
1-2i=x+yi

x=1ly=-2,x+y=-1




x:1+T\/§l A o], 9x% — 6x + 5 9] FL2?

@ -2 @ -1 ® 0 @ 1 @2

B

1+ V2i
3
3x=14+ V2i
3x—1=2i
FH-S A G5 9x2 —6x + 1 = -2
So9x2 —6x=-3
9x% — 6x + 5°l14 9x% - 6x7} —3°]B2 -3+ 5 =2

ojlm=z

X =




a:1+i,ﬁ:1-iw1,§+%9m%?

@ -i ® -1 @0

@ i
B

1-i 14+i (1-)2+(1+i0)?

Boa_l-i 1+i_
e B 1+i 1-i  (1+id(1-i)
(1-2i+i) + (1 +2i+ %)
1—i2




x+yi

x=1998, y =4331 & o, :
y—Xxi

+

y = xi

—— o] 27

X+ y

x4+ yi —xi
y—)}c]i +z+yi
(x +yi)? + (v — xi)?
(v = xi) (x + yi)
x% + 2xyi — y? + y% - 2xyi — x2

(v = xi) (x + yi)

=0




8.  (2-i)z+4iz=-1+4iF WESh= B4 oo tisto] z9] g2 2
(&, 2= 29 ZAeFagolnt )

® 3 @1 O @ 6 ® 7

B

z=a+biztt=CH7=a-bi

(2—1i)(a—bi)+ 4di(a+ bi) = -1+ 4i

(2a — 5b) + (3a - 2b)i = -1 + 4i

L 2a-5b=-1---Q)
3a-2b=4---©

O, 0= dHt EHa=2,b=1

L z=2+41, 7=2-1i

w2z = (240)(2-i)=22-i?=5




FEATFz=a+(Bb-1)i, 2= (b+1)-5i°l ot z; =z 7t
A9 o, A4 a,boll okl a+ b 9] GH-2?
® 3 @ 4 ©F @ 6 ® 7

3b-1=5

1

a+(3b-1)i=(b+1)+5iA

a=3,b=2
La+b=5




10.

derd A (x, y)E oE =9 9

4%)

® ©)

(3 + 2i)(x + yi) = 3x + 3yi + 2xi — 2y
= (3x—2y) + (2x + 3y)i
Z0]2) 4Jo] 447} H2IH 5457} 00l olok SHELE 23y — 0

urebA] 712717k 24=olal y Aol 09l 2 2 @Ot




11.

BAd (14 20)x— 2+ )y + 15 ABSFAEY ~97 H9eh. o] u,

x+y€] gE2? (Fi= Vo1 ol x, y& ASolth)

z=(x-2y)+(2x-y+1)i

2:_9

2 (L &5t

Lx=29=0, 2x—y+1)*=9

x=2y % 2x-y+1=1+3S A5t 2H

|

2 4

y=3ry
4 8

y:—g—)X——g




12.

Bz = (142 + (54 20+ 32 i) oA 27 25152 W), 4%
x 0] ZHe (i = V1)

z=(x +5x+6) + (x> +2x - 3)i

=x+2)(x+3)+ (x-1)(x+3)i
&3157} Hel| A48 0, 55520
Sox=-2




13.

A%,y okl 4 T = 27 AR, 2x gy ) 22

1—-1i

® 8 @~ ® 5 @ 4

ul| ©

B

(I-i)x+ (1+i)y
(1+i)(1—1)
(ty) = (x=y)i _,

2
(x+y)—(x=—y)i=4-2i
FA40] A5 o)A
x+y:4---®,x—y:2---©
D, 0N x=3y=1 . 2x4+y=7

=2-1

=




1+ =142+ =2,
(1-i)2=1-2i+i®=-2i
(1405 - (1-10)°

= {1+ = {(1-0)?
= (20)° - (-20)°

= 8% + 83

= 16i% = —16i




Sa o HlRaavtzd W, SA (1-i)2+2i2=3-i8
AZ|E zE F+otH?

DO z=-1-2i @ z7=-2-2i @z=—3—2i
@ z7=-3-3i ® 7=-3-4i

a
—

1N

Fag z=x+yilx,y= 2AF), z=x-yitt oW

X—yi—xi—y+2xi—2y=3-1i
x=3y)+(x-y)i=3-1i
2450 450 oJ3te]
x=3y=3,x—-y=-1
x=-3,y=-2

L z=-3-2i




16.

V2
1-1i

2= Dl 22— V21 9 g2
o3 22 @ @ ® 1
V2 N2 40 V2(1+4)
T1-i T a-na+i) 2
2
2y _ 2 8 L
“\1-i) T 1-2i+2 2
pr— i_
_—i—2_l
AN+l =R 40— 2._V§(;+l)+l
=-1+i-(1+i)+1=-1




17.

9% . b A Hote] VB VEx VBx V2 -0

St a + bi O] E= Yebd o, ab O] T2 5k

Y o e
=

VEB X B ez = el
V3 -3
V-6 V6
—(\/_3X‘/§)X(‘/§X‘/_2)—W+—_3
= V-6x V-6 - V-2- V-2
=—V36 - V2i— V2i=-6-2V2i
ab = 122




xof| TS o)A 4] (1 —i)x% + (34 2ai)x + (2a + 3i) = 00] A
271 gt A4 a9 k2 oY
O @-1  ®2 ®-2 O3

a(l-i)x® + 3+ 2ai)x + (2a+ 3i) =0 Q) AT 2AL &
A% oA Aol B BEAL £ % fet. 2o| At
AL 17k A5 e EARE Baso] 4ERA

(ax® + 3x + 2a) + (—ax® + 2ax + 3)i = 0 ©]°jof stE=2
ax> +3x+2a=0----- @)

—ax?’ +2ax+3=0----- ©

O+0 34
(2a+3)x+(2a+3)=0,(2a+3)(x+1)=0
20+3=0F=x+1=0

3
a:—gE—Ex:—l
0 _ 301
)a=-3 A o
3
@’5}01]/\'1—§x2+3x—3:0, X2 -2x4+2=0

o|BZ 2L ALY - a2 -g

i) x = -1 4 o Gofl HYstH,
a-3+2a=0,3a=3 .. a=1




a=a+bi(a beAg, i= V-)4d W, o =b+aizt

o Vg; Fo) ), 25 (a')4 & 7hek] o7
D 1+i @ 1-i @ 2+i
@ 2-i ®)V3+i

rO]l

a=a+bi, @ =b+ai°BE
aa' = (a+ bi)(b+ ai) = (a® + b?)i

3 1
lqjq]a:\/?_+§i:a+bi°ﬂ/\1
\3 1 . (3 1)
= bTy rer=gty)i
(FH)= 2a(a-ayt =2. BH 0 5o







